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SECTION A — (10 x 1 = 10 marks)

Answer ALL questions.

yoose the correct answer :




the curve
of

, asymptote .
The radius of curvature of the curve y=e" alll 2y =3axy 18

point where it crosses the ¥ -axis

® x+y=a

@ 1 ® 2 @ x+y+a=0

1 2
© 242 A n ' Gl
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(@) r (=) -
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If the radius of a circle is r, then its radius ¢
curvature is

@ r (b)

Gdgrenas AsTHCaT()
L L F &
(=) x+y=0 (<) x+y=a s ="

(®) x+y=3a (F) x+y+a=0
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The curve x2y? = 42 (x* - %) is symmetric wil|
respect to

5

(@) x-axis ()  y-axis 5 (b) 39
2

(© (a)and (b) - (d) none 3 S
32 b ==

xy =c? TGN QUEMaTELGH I} T80 Qunyj 5 5

FL&& eng). '

(@) 28 % (ec)ix =

() ¥=x aanp Cam() -

@) (=) opois (<) B Jron: (e 6[ f(a - x)dx

(7)  ggldame

The curve xy=c? is Symmetric with respect (s
1Y

(@) the origin (b) the line y=x

)

(©)  both (a) and (b) (d) none Wiy -
2sin‘sxdx= ° 2
0 (]-f (x)dx ® j L

i (@) 22 ] 0
> = * e : [#taix

32 32x |£(x - a)dx @ a

@ 2 (m) =Z ! ;
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_ SECTION B — (56X 5=25 marks)
wer ALL questions, choosing either (a) or (b).

xt + y4 =2 erevim cueneTeUanFUAlel GUENETEY SO
1, 1) erenp Ljerafiudicd Satr.

Find the radius of curvature of the curve
x* + y* =2 at the point 41).

Or
(&) r=oa(-cos g) aremp Qgﬁ@%mmmuﬂs&r p-r
FLoGTUIT(H) STEwT.

Find the p-r equation of the cardiod

r=a(l-cosf).

x3+x+y=0 aam

(&) ¥ - 6xy? +11x°y -6
cuenarauayudien Qsraad an@@asn@a;s'ﬁ SITGHT.

Find the asymptotes of the curve

ys—6xy2+11x2y—6x3 +x+y=0.

Or
&) xt - 2ax’y - axy® +a®y* =0 ST
euenaTaenTudled opHlufley @D eueswITar
Gnop Wb BHAGD aané s[O3,

Page 7 Code No. : 21133



Show that at the ori

gin there i
of the second

S a single cusy:
Species on the

x* - 2ax2y _ axy? + a%y? =

curvg

G nemdospu e aailo T'(n+1) =n!
1
13, (s) FHOI uenaren ellems; 5. @ plm,n)=pn,m).
; . Prove : .
Explain the cycloid, @ If n is a positive integer, then
1
Or r(n s 1) = n!
(=) (@? + x J)y=a’x ) eueneTeLEmIEL euan s @ plm,n)=pnm).
Or
Trace the curve (g2 + x%)y = g2 x
1 1\"
w) SaEAEs J.xm (log;) dx.
14. (<) f(x) @ ROMDE &ML erenfleh ff(x)dx 0 0
1 1 n
GTES &ML (s, Evaluate : Ixm (log ;) pal
0
If f(x) is an odd function, thep prove that SECTION C — (5 x 8 = 40 marks)
X)dx=0. :
ff( e wwer ALL questions, choosing either (a) or (b).
. o G
Or _ ) y2 = 4ax erem uuwmmwﬁﬁm FRIGSS!
il Gum@ﬂ'@.lmu 5[]'60"6T-
(<=2) f sec” x dx -¢ir EBES GSEib s,

2 _ .
Find the evolute of the parabola y° = 4ax
Find 3 reduction formula for f sec” x d

Or
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2c 1M GUENETEUETEn U GUEN TS,
(@) x=a(@+sinb),y = a(l ~cosd) aramp Sy ('g.&) r? = a’cos26 erend

cueeTWilen eUENETEY S TLD SmeT. P o e earve 2 = a?cos26.
Find the radius of curvature of the cycloid
x = a(@+sind),y = a(l - cosb).

ra

Si) LHIIGS: logsinxdx .

17. (=) 2x* -5x%y® +3y* +4x® — 6y + 2% + 2 — ]

2xy +1=0-a ;
Wde6ieus Qgreanews QsTOCHTHs6r ST, ‘ s |
. ili Evaluate : jlogsmxdx.
Find the rectilinear asymptotes of ]
2x* ~5x2y? + 3yt + 458 ~6yPxl 4yt _
2xy+1=0, Or
) x2 +y2 + 22 =a® eem CaratsElen Nend GTesT

5 mxyz dx dydz -g wHLIAES

(=) x*-2ay° -3ay® —2a°4% +a' =0 GTGNT() :
Evaluate Hjxyz dx dydz taken through the

positive octant of the
o2 4yl + 2t =at.

auemereuanyuller Qi el L Lereflsaner SIS, e

Examine the double points of the curve
xt - 2ay® - 3ay? - 2a%x® +at =0.

T(m)r(n)
) B9 : Almn) = Fe " hy

x?+1

18. (=) y= 5 lcrsirrg)memmmsmqmmmmw.

Lani _ L)
Trace the curve y = e Prove : f(m,n) = T(m +n)
x -—

Or Or
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(=) wHUNDS :
z/2
@) j sin” G cos® 9 dg .
0
/2

(ii) j Vtanade.
0

Evaluate :
7/2

@ _[sin7 Bcos® 6de .
0

/2

(ii) j Vtan6de .
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